SHSEIAZHOTEXREE(BA1H~3A31BXZHS)

<HE£>
No., AH 1 £ = 8 (M
1| 3/8 =& TREZBETCEBHRS 6,000
2 | 3/18 | BH . HE BRABEROER HEFFMTE SHIX (BEHREL-S) 5,000
3 |3/22 & FAMEBRRUAATEHEMASEZET I 5,000
4 | 3/23 EIE - RM4FEEGIRBSGAR RIS (RIBETMRE) 3,000
5 | 3/23 BB RM4FERETEHR)IFEEkMRTFE(REHTRE) 3,000
6 | 3/27 EIE MRBARNESETSHAFEEERL—RX(REHRE) 3,000
7 13/28 2B MRAERFEDEREIBHRE 2,000
8 | 3/29 |FH - BAFHRESE IR KSR (BRHRIE-3) 10,000
9 | 3/30 FH:THHEE BWIFHTLWFE FRIX (BHREL-T) 10,000
a &t 47,000
<TER-%£TE>
No., AR 1 £ = 8 (M
1| 3/11 A8 REBEAKREX RMEHEESR 25,000
2 | 3/11 KT RFEHT THEIMERER WHEEK X (BRREEIF) 22,000
3 | 3/29 |TEIR-TBEARNFRTE BUEKBEK SR (BHHRE-3) 16,500
4 | 3/30 fEIR: Tl E BNFTOFE AR (BHHREL-T) 16,500
a &t 80,000
<FBE>
No., AR % £ = 8 (M
1 | 3/25 | PAE-_REEFERAK (27) 4,150
2 | 3/27 |0 AN AV WM AR FER T AL —HERFEREISZRTIX(2H) 4,150
3 | 3/27 L TN RIMEBEIR = (2F) 4,150
a &t 12,450
<ZzDih>
No., AR 1% % = 8 (M
1 | 3/22 | oMM E~BEER 12,320
a8 & 12,320




